Anatomy 121 QUIZZ 2nd TERM

1- Regarding the lumber plexus, choose the incorrect statement:
a. Obturator nerve emerges from the medial aspect of psoas major muscle.
b. It is formed from the dorsal rami of the upper four lumber nerves.
c. Genitofemoral nerve emerges from the anterior aspect of psoas major muscle.
d. Femoral nerve emerges from the lateral aspect of psoas major muscle.
e. It is formed within the substance of posas major muscle.

2- Regarding the posterior abdominal wall, choose the incorrect statement:
a. The medial arcuate ligament is thickening of psoas fascia.
b. The psoas is supplied by the subcostal nerve.
c. Quadratus lumborum is inserted into the inferior border of 12th rib.
d. The fascia of the posterior abdominal wall is continuous with the fascia tranversalis.
e. The psoas flexes the thigh on the hip joint,

3- Regarding the abdominal aorta, choose the correct statement:
a. It enters the abdomen at the level of the 1st lumber vertebra,
b. Azygos vein lies on its left side.
c. It ends at the level of 5th lumber vertebra,
d. It is crossed anteriorly by the head of the pancreas.
e. Gradual occlusion at its bifurcation leads to claudication in the lower limb.

4- Regarding the lumber part of the sympathetic trunk, choose the incorrect statemen:
a. It enters the abdomen behind the medial arcuate ligament.
b. The right trunk descends behind the right margin of the inferior vena cava.
c. The left trunk descends on left side of the abdominal aorta.
d. All the ganglia receive white rami communicants.
e. All the ganglia send grey rami communicants to lumber spinal nerves.

5- Regarding the inferior vena cava, choose the correct statement:
a. It enters the thorax at the level of the 8th thoracic vertebra.
b. It is formed behind the left common iliac atrety.
c. The left crus of diaphragm lies close to its left side.
d. It receives the left testicular vein directly.
e. It begins at the level of the 4th lumbar vertebra.

6- Regarding the ureter all of the following are true, Except:
a. Both ureters have three anatomic constrictions.
b. Both ureters receive blood from the gonadal arteries.
c. Both ureters are separated from the transverse processes of lumbar vertebrae by psoas major muscle.
d. Both ureters pass anterior to the gonadal vessels.
e. Both ureters enter the pelvis anterior to the terminal part of the common iliac artery.

7- Regarding the pancreas, choose the incorrect statement:
a. Its neck lies in front of beginning of portal vien.
b. Its uncinate process is crossed anteriorly by the inferior mesenteric vessels.
c. It is one of the structures forming the stomach bed.
d. The splenic artery runs along its upper border.
e. Its tails lies in lienorenal ligament.


8- Regarding the 1st inch of the 1st part of the duodenum, choose the incorrect statement:

a. It is completely covered by the peritoneum.
b. Its upper border gives attachment to lesser omentum.
c. It forms the anterior boundary of the epiploic foramen.
d. It lies on the transpyloic plane.
e. It is related posteriorly to the gastroduodenal artery.

__________________


1) -----> B (السبب : اللمبر بلكسس تطلع من الـventral وليست من dorsal )

2)------> B (السبب : psoas supplied by lumbar plexus , but subcostal out of lumbar plexus )

3)------> السؤال يجب أن يعدل من incorrect إلى correct الإجــابة هي E ( واضحـة ) 

4)------> D ( واضحــة )

5)------> E ( السبب : inferior vena cava begins at 5th lumbar vertebra )

6)------> D ( السبب : gonadal vessels are the most anterior ones in the abdominal viscera )

7)------> B ( السبب : ليس inferior mesenteric يقع أمام uncinate process إنما ذلك هو superior mesenteric artery )

8)------> E (السبب: لان duodenum هو الواقع anterior to gastroduodenal artery وليس العكس )
